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- �������	� ������	� ( 	���. yxx =+423 ) � ������	� 	� ���������	��� ����	�	�� ���

���� ��������	�	� �����������	�� �� ��������	� 	� ����	�	���� 042 =+ xx     - 1 �����

        - ������	� 	� ����	�	���� � 	�����	� 	� ����	��� �1 = - 4 � �2 = 0            - 1  �����
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−=− yy                                                                                                          - 1 �����                            

      - ������	� 	� ����	�	���� � 	�����	� 	� ����	���  �1 = 10 � �2 = 2                - 1  �����
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���� x = 2; y = 10; z = 18                                                          - 0,5 �����  
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3 �)    �����	�, �� � �90=APC ��������������������������������������������������������������������-�0,5 �����

 �����	�, �� 3aAP =                                                                                          - 1 �����
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3
=CAP  ,  � �30=CAP                                                        -�1,5 �����

������	� 	� ������ � �60=CAB ��� �30=ABC ����������������������������������������������-�1  �����������������������

3 �)  ��� ������� ���
��� ������	����� � � " , �� ��	�����	�  �" = 2� � "# = 5� , ������ � �

���$�%��	� 	� ������%��	��	�
� � ����!��	� 	� ����&�	 ���� � ϕ=AKC

�� ϕ−= �180BKC �(��� ��������	� 	� ����� ����&	� ��	���	��) 

�����������������������������������������������������������������-  0,5 �������
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��- '�������	� 	� BC �� 
�	�
��� ������� � (BKC � 	�����	�, �� αatgBC 5=      - 1 �����

  -  ������	� ��%��� 	� � �
� αtgaS 25=               - 0,5 �����
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